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Preciosa Ornela introduces beads and seed beads
from the PRECIOSA Traditional Czech BeadsTM brand.

Design by Alexandra Lysenko

S E W N  B R A C E L E T  U S I N G  P R E C I O S A  R O L A™

Swallowtail
Butterfly

PRECIOSA Rocailles
 331 19 001; 10/0

PRECIOSA Rola™
 341 59 001; 5 x 3.5 mm

PRECIOSA Twin™
 321 96 001; 2.5 x 5 mm

PRECIOSA Bow™
 111 01 382; 3.5 x 15.5 mm



Step 3: 
Thread the line through the top hole 
of the T and sew on the group of R10 - T - 
R10 (fig. no. 3a). Pass the line through 
the upper hole of the T (fig. no. 3b).

Step 4: 
Repeat steps 2-3 until you reach the desired 
length of the bracelet (fig. no. 4a). 
Sew 6x R10 to the last T (fig. no. 4b). 
Use the connecting rings to attach 
the fastening (fig. no. 4c).

Swallowtail Butterfly

S E W N  B R A C E L E T  U S I N G  P R E C I O S A  R O L A™

The beads and seed beads from the PRECIOSA Traditional Czech Beads™ brand 
can be excellently combined. See for yourself. You can create a beautiful elegant bracelet 

according to this simple tutorial by Alexandra Lysenko.

Materials and tools:

PRECIOSA BowTM (B) 
111 01 382; 3.5 x 15.5 mm; 
23980/86800; 20x  
 
PRECIOSA Rola™ (RO) 
341 59 001; 5 x 3.5 mm;
83500; 21x

PRECIOSA Twin™ (T) 
321 96 001; 2.5 x 5 mm
28986; 20x

PRECIOSA Rocailles (R10) 
331 19 001; 10/0;  
49055; 30x 

a nylon line (0.20 mm); a long thin needle; 
needle-nose pliers; scissors 
 
a carabiner; 4 mm and 5 mm rings

Difficulty:  

Technique: sewing

Procedure:

Step 1: 
Cut off around 1 m of line. String 6x R and 
1x T on one end of the line (fig. no. 1a) 
and tie a double knot. Stitch through 
to the T and pass the line through the upper 
hole (fig. no. 1b).

Step 2: 
Further string 1x B and 1x RO onto the line 
(fig. no. 2a), pass the line through the upper 
hole of the B (fig. no. 2b), string 1x T 
(fig. no. 2c), then string 1x B and 1x RO, 
pass the line through the upper hole 
of the B and thread it through the T 
and the first B (fig. nos. 2d - 2e). 
Thread the line through the RO and then 
once again through the B and the lower 
hole of the T (fig. nos. 2f - 2g).
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